-KEY-

Prelab Questions
1. Large marble has more mass

2. The small marble would bounce off and not move the big one very much
Postlab/Conclusion Questions
1. Check if it is in line with chart recordings. The object with a larger mass will push the less massive object far away.

2. Check if it is in line with chart recordings. Objects with less mass wont have as much of an effect on more massive objects when colliding.

3. A large car is like a large marble where as a small car is the smaller marble. The large car would cause larger damage to the small car than if the small car crashed into a large one.

4. The combined mass of the small marbles would have a greater impact than one single small marble

5. Big to Small. Also check the charts
